Задания для самостоятельной работы
Вариант-1

I. Сопоставьте слова:
	1. application
2. means
3. plate
4. tripod
5. plumb
6. stand
7. installation
8. circle
9. sight
10. magnify
	a) пластинка

b) отвес

c) установка

d) применение

e) круг

f) визировать

g) средство

h) увеличивать

i) подставка

j) штатив


II. Переведите следующие слова на русский язык:

telescope, angle, plane, to provide, to trace, to intersect, cross-hairs, to achieve, to divide, to level.

III. Переведите следующие слова на английский язык:
широкий, измерять, проектировать, геодезический, теодолит, штатив, винт, отражать, наблюдение, теодолитный ход.
IV. Переведите предложения:
1. Theodolites are extensively used in surveying.
2. Before starting work theodolites are checked.

3. All the main parts of a theodolite are given the text.

4. The verniers provide the means of taking exact readings of the angles measured.

5. The telescope magnifies distant objects. 

6. A visible line of sight of a telescope is provided with cross-hairs.

7. Readings are taken with the help of two verniers which are on the vernier plate.

8. The tripod stand serves for the installation of the instrument over the required point.

9. The vertical hair of the cross-hairs diaphragm must be plumb.

10. The horizontal axis must be perpendicular to the vertical axis of the instrument.

V. Переведите текст письменно:

Adjustment of a Transit 

When an instrument is in perfect adjustment:

1. axes of the plate bubbles are perpendicular to the vertical axis;

2. vertical hair is perpendicular to the horizontal axis;

3. line of sight is perpendicular to the horizontal axis;

4. standards are exactly at the same height;

5. line of sight and the axis of the telescope level are parallel.

When the telescope is levelled by the telescope level the zeroes of the vertical arc and vernier should coincide.

If the adjustment has been carefully made the axes of the bubbles are now perpendicular to the vertical axis or parallel to the horizontal plate. This is true if the bubbles are brought to their central position by means of the leveling screws. This process will tip the vertical axis and the horizontal plate and will make the vertical axes truly vertical and the horizontal plate truly horizontal.

Before this it is necessary to set up the transit and bring the plate bubbles to their respective centres. 

1. Ответьте на вопросы:

2. Are axes of the plate bubbles perpendicular to the vertical axis?

3. Are standards exactly at the same height?

4. Are line of sight and the axis of the telescope level parallel?

5. Will this process tip the vertical axis and the horizontal plate?

6. It is necessary to set up the transit and bring the plate bubbles to their respective centers?
Задания для самостоятельной работы
Вариант-2

I. Сопоставьте слова:
	1. to cover
2. repetition method
3. utilize
4. locate
5. serve
6. scale
7. alignment
8. weight
9. device
10. available 
	a) метод повторений

b) служить

c) шкала

d) выравнивание, центровка

e) устройство

f) покрывать

g) размещать

h) наличный

i) использовать

j) вес


II. Переведите следующие слова на русский язык:
Feature, hole, difficult, upright, point, case, efficient, division, handy, aim.
III. Переведите следующие слова на английский язык:
расстояние, корпус трубы, поле зрения, снабжать, ход. Сеть, наводить на цель, надежный, закреплять, прибор. 

IV. Переведите предложения:
1. This instrument is used for angular observations.
2. They have 400 division on the scale.

3. Light weight and compactness make this instrument very convenient. 

4. Theodolites are used for various geodetic jobs.

5. Optical alignment makes T-30 highly efficient.

6. A provision is made to employ the telescope.

7. The telescope is set upright.

8. The base of the theodolitik serves as the base of the metal case.

9. The selection of points is important.

10. A vernier plate permits reading of the horizontal angles. 

V. Переведите текст письменно:

Theodolik T-30

The Theodolik T-30 is a geodetical instrument used for angular observations in survey network. It is also used in transit and tacheometric traverses.

This instrument finds a wide application in engineering project survey, geodetic preparation of highway building, construction of irrigation and drainage channels, field measuring etc.

The T-30 is a transit featuring a lens system set on its vertical axle.

For rough aiming two optical sighting devices are available on the telescope body. The read-out microscope is located next to the eyepiece of the sighting telescope. The telescope field of view covers simultaneously the lines of horizontal and vertical circles. The readings are taken by the stationary index.

Light weight and simple design make the theodolite T-30 handy, troble-free and highly efficient instrument.

VI. Ответьте на вопросы:

1. Is theodolite T-30 used for angular observations?

2. What jobs is this instrument used in?

3. Does it find a wide range of application?

4. What is used for rough aiming?

5. Does the telescope field of view cover the lines of horizontal and vertical circles? 
Задания для самостоятельной работы
Вариант-3

I. Сопоставьте слова:
	1. condition
2. ray
3. network
4. box compass
5. angle
6. eyepiece
7. grading
8. convenment
9. provide
10. azimuth 
	a) сеть

b) угол

c) условие

d) удобный

e) луч

f) обеспечивать

g) буссоль

h) азимут

i) выравнивание

j) окуляр


II. Переведите следующие слова на русский язык:
To survey, to furnish, to attach, microscope, suitable, demand, to locate, to cover, measurement, various. 
III. Переведите следующие слова на английский язык:
применение, отвес, измерительный прибор, штатив, закреплять, использовать, разнообразие, цель, удобный.

IV. Переведите предложения:
1. The theodolite T-5 is employed for various geodetic shots.
2. High efficiency of this instrument is provided by employment of dial microscope.

3. Eyepiece attachment is used for measuring large angles of gradient.

4. Primitive surveying had been practiced since very ancient times.

5. It is impossible to make preliminary surveys without the help of geodesists.

6. Readings of the azimuth circles are taken at both sides.

7. This instrument is designed for angular surveying.

8. It is observed through the rotating magnifying glass prism.

9. The theodolite is placed on the line to be measured.

10. It may be used with photographs taken with a single leans camerd.

V. Переведите текст письменно:

Theodolite T-2
The theodolite T-2 is designed for angular surveying in ground triangulation and in poligonometry.

This instrument is suitable for taking measurements with three-base and three-theodolite methods of project survey. 

The theodolite T-2 belongs to transits of non-repeating type.

This theodolite is furnished with a box compass. And has an optical plummet. The optical plummet permits rapid resetting of the theodolite over the terrain point and direct control of resetting during the process. 

Extra quality sighting teleseqe  is filled with optical view finders for preliminary pointing the telescope at an object. The azimuth circles are covered with protective glasses which keep them always clean, even in dirty environments.
VI. Ответьте на вопросы:
1. What is the theodolite T-2 designed for?
2. Is the theodolite T-2 suitable for taking measurement at night?

3. Does T-2 belong to transtits of non-repeating type?

4. Is sighting telescope fitted with optical view finders?

5. Where is the rotating manufacturing glass prism located?
Задания для самостоятельной работы
Вариант-4
I. Сопоставьте слова:
	1. competition
2. improvement
3. simplification
4. range
5. accurately
6. alignment
7. conditions
8. available
9. applicable
10. reduce 
	a) упрощение

b) точно

c) центрирование

d) условия

e) конкуренция

f) доступный, наличный

g) применимый

h) сокращать

i) усовершенствование

j) сфера, диапазон


II. Переведите следующие слова на русский язык:
to demand, advance, to prove, means, grading, to consider, value, increasingly, various, to differ. 
III. Переведите следующие слова на английский язык:
тенденция, метод, нацеливать, насадка, прогресс, улучшать, расстояние, применять, прибор, исследование. 

IV. Переведите предложения:
1. Thant’s to these instruments it is easy to measure angles and differences in level.

2. This method was introduced some years ago.

3. They differ in the degree of accuracy.

4. These scientist improved the design of teaditional surveying instruments.

5. The instrument has proved to be useful.

6. Great progress has been made in the field of space exploration.

7. The surface is considered as a plane.

8. The introduction of lasers has increased the range of these instruments.

9. A vernier plate carries two diametrically opposed cross hairs.

10. The theodolite T-2 belongs to transits of non-repeating type.

V. Переведите текст письменно:

Modern Surveying Techniques 
During the past decades there has been an increasing demand for surveying instrument which will measure distances quickly, accurately and directly.

Together with advances in automation of angle and distance measurements and computing, these instruments illustrate the trend of present-day engineering surveying. Instruments of this type are becoming increasingly important. They are quick, accurate and easy to operate.

Future development will be aimed at reducing the size, weight and cost, together with further simplification in design and operation. As distances can already be measured in a matter of seconds, there is no great need in increasing the speed of operation. 

Now lasers are being widly used in long-range electro-optical instruments. They are also used to control the alignment and grading of tunnels, cannals, pipe and transmission lines.

Over the past few years many of the advances are useful and applicable in engineering surveys. 

VI. Ответьте на вопросы:

1. Has there been an increasing demand for surveying instruments?

2. Do these instruments illustrate the trend of present-day engineering surveying?

3. Are the instruments of this type becoming increasingly important?

4. What is used now in long-range electro-optical instruments?

5. When will feature developments be aimed at? 
Задания для самостоятельной работы
Вариант-5
I.  Сопоставьте слова:
	1. road 
2. soil
3. research
4. rapid
5. exploring
6. processing
7. maintenance
8. development
9. advantage
10. precision
	a) точность

b) разведка

c) исследование

d) обработка

e) преимущество

f) развитие

g) дорога

h) быстрый

i) эксплуатация

j) почва


II. Переведите следующие слова на русский язык:
to locate, to manage, to reflect, to solve, investigation, activity, mine, to link, shape, prospecting. 
III. Переведите следующие слова на английский язык:
определять, широко, надежность, график, угол, наука, использование, карта, прикладная геодезия,  связанный (имеющий отношение).

IV. Переведите предложения:
1. People know as much about geodesy and geodesists as they know about a lot of other professions.
2. Higher Geodesy studies Earth’s gravitational field.

3. High-precision instruments have revolutionized surveying methods. 

4. Geodetic work has a great place a lot of in construction. 

5. Engineeri documents are worked out before any construction.

6. Geodesists are the first at any construction site to take all the measurements, to construct maps, plans and sections.

7. Applied geodesy in used while protecting natural resources.

8. The characteristic feature of geodetic instruments is their complexity, high precision and reliability.

9. The task of Geodesy is to measure lines and angles on, above and below the Earth’s surface.

10. H’s very advantageous if good maps are available before the planning and development of any project.

V. Переведите текст письменно:

Geodetic work on Construction Site

Geodetic work is widely used in construction. It precedes and accompanies the planning, construction and operation of engineering structures.

Industrial and public buildings as well as other projects are built according to preliminary worked out plans.

The engineering plan is the principal construction document and contains elaborate technical data for the approved project.

The engineering schemes give design features of individual structures and facilities, including setting out plans, ties of structure to the ground, etc.

The engineering plan is worked out on the basis of engineering investigation data. The engineering investigation are the first stage in constructing new and reconstructing existing projects. The aim of such investigation is to find on the site the most advantageous location of the project and collect the data required for working out the project as well as an estimate and the technical and economic justification of the project. 

VI. Ответьте на вопросы:

1. Does geodetic work precede or accompany the planning, construction and operation of engineering structures?

2. Are buildings and other projects built according to preliminary worked out plans?

3. Is the engineering plan the principal construction document?

4. Is the engineering plan the first stage in construction new and reconstructing existing projects?

5. What is the aim of engineering investigation? 
